以下題目為本班傑出學員Ms. Chen 於2003年12月7日參加 CFA L1考試之部分重要題目紀錄，謹提供金證照網友分享，請不吝指教!

CFA level I test – morning session

· Consider a company, which has a capital lease for ten years with annual payment $150,000. The lease started from 1/1/2001. The EBIT at 12/31/2002 is $570,000 and the discount rate for the lease is 8%, what is the interest coverage ratio of this company at 12/31/2002?

Q54.
	Company Name
	Inventory level
	Sales
	Inventory Days

	A
	2
	25
	60

	B
	2
	26
	70

	C
	2.5
	28
	60

	D
	2.5
	29
	70


A, B, C, D companies are in the same industry. The average gross profit margin of the top 10 companies in the industry is 55%. Which company has the closet gross profit margin to the industry average?
	
	2000
	2001

	2002

	ROE
	19.8%
	20%
	22%

	ROA
	8.1%
	8%
	7.9%

	Asset turnover
	2
	2
	2.1


Based on the table above, which answer can most likely to explain the change of ROE from 2000-2002?

A. The net profit margin of the company decreased.

B. The operating leverage of the company increased.

C. The efficiency and the margin of the company increased

D. The financial leverage of the company decreased

· The sales of a company are 275 M. The total asset and the total liability are 110 M and 60M, respectively. To achieve ROE = 25%, what is the required net profit margin for the company?

· The inventory level of a company is 2M, and the inventory days are 50 days. The profit margin of the company is 40%, what are the sales of the company?

· If the expected value of an estimator is equal to the value of the parameter which the estimator wants to estimate. The estimator is

A. Accurate
B. Efficient

C. Unbiased
D. Consistent

· A company has just accrued the wage expense for $2000 and collected account receivable about $10000. What are the impacts on current ratio and the cash flow of operation?

Current ratio                   CFO
A     Increase                     Decrease

B.     Increase                     Increase

C.     Decrease                    Increase

D.     Decrease                    Decrease

· Compared with firms which capitalize its construction interest, the firm which choose not to capitalize the interest expense will have

CFO                 EBIT/ I
A   Higher                Lower

B   Lower                Higher
C   No effect              No effect

D   Higher                No effect

· In the GIPS, the total firm asset and the withholding tax are mandatory items or recommend items?

Total firm asset         Withholding tax
A. Mandatory               Mandatory

B. Recommend              Recommend

C. Mandatory               Recommend

D. Recommend              Mandatory

· Mr. Walton was an analyst of Apple Investment Management Company before. He used a highly reliable model which he developed before he joined Apple company to analyze stocks. However, when he left the company, he also took the model away with him. After Walton left the company, the director of research department decides to use another model that is similar to Walton’s but he does not disclose the change of valuation model to their customers? Does Walton and the director violates the AIMR standard?

· Lisa, a compliance officer of an investment management company, found that her company failed to disclose the soft dollar arrangement to the government that is required by law. Lisa quickly disclosed the arrangement to their customers. However, she did not report the soft dollar arrangement to the government. Does Lisa violate the AIMR standards? 

· The use of personal resume and description of the services that their firm provide, is regulated by which convents in AIMR standard?

A. Fiduciary duty

B. Plagiarism

C. Duty to employer

D. Misrepresentation
· Given a shift in macroeconomic policy, what is the impact to the expectation of long- term out put level to adaptive expectations and rational expectations?
Adaptive    Rational
A. Change     No change

B. No change   Change

C. Change      Change

D.No change  No change

· The Meyer, Johnson, and Fairfox companies are all in the same industry. The three companies will equally benefit from a pending court case. The stock price of Meyer and Johnson is 30% sensitive to the result of the court case. But the stock price of FairFox company is 40% sensitive to the result of the court case. What is the best strategy to such kind of situation?

Sell the stock of Fairfox since the stock is overvalued. Buy Meyer and Johnson’s stock.

Jan. 1   Beginning balance of the numbers of stock outstanding     200,000 shares

April 1.  Issue 100,000 new stock

July 1   two for one stock spilt

Net income in 2002 is $300,000.

The company also has 10,000 shares, $10, 10% dividend cumulative preferred stock. The dividends of the preferred stock were not paid in 2001 or in 2002. What is the weighted average number of stock and earnings to calculate the basic EPS of the company?

What is the target of non-active monetary policy and non-active fiscal policy?

Monetary                       Fiscal 

A. Price index                     Legal limit in budget deficit

B. Unemployment rate              annual growth in budget surplus

C. Price index                     annual growth in budget surplus

D. Unemployment rate              Legal limit in budget deficit

Restrictive fiscal policy is lease likely to 

Government spending           Tax rate
A. Increase                     Increase

B. Decrease                    Decrease

C. Increase                     Decrease

D. Decrease                    Increase 

· What is the impact of the expansion monetary policy on interest rate and exchange rate?

· Which theory is most likely to describe the taxpayer anticipation if not all future tax increase is resulting from government spending now?

A. Classical

B. Supply-side

C. New classical

D. Keynesian

· Which answers below are not the five topics in GIPS?

A. Composite Construction

B. Calculation methodology

C. Presentation and Reporting

D. Verification

· If a company decided to ease its credit policy and reduce its collection efforts, what is the impact to account receivable turnover and CFO?

Account receivable turnover      CFO
A.  Increase                      Decrease

B.  Decrease                      Increase

C.  Decrease                      Decrease

D.  Increase                       Increase

· Consider two companies both issued $ 1,000,000 bond. Company A chose to issue coupon bond but B company chose issue zero coupon bond. If all other things are equal. What is the effect on CFO and CFF of firm B compared with firm A?

The mean of a normal distribution population is 100 and the standard deviation is 20.  What is the 95% confidence interval of the mean?

· Which factor will widen the confidence interval?

Degree of freedom              Number of samples
A. Decrease                      Increase

B. Increase                       Decrease

C. Decrease                      Decrease

D. Increase                       Increase

Afternoon Session

Consider a person who will retire in 5 yrs. To support his life, he will need 2M after 5yrs. He has 1.6 M now in his account and the rate of return of that account is 8%. He also wants to donate a fixed amount of money at the end of the next 5 yrs. What is the maximize amount of money can he donate at the end of the next 5 yrs?

In New York, the British pound is equal to $1.9. In Zurich, Swiss francs = $1.6. In London one pound is equal to 3 francs. What is the gain/loss in the triangle currency arbitrage if one investor invests $1,000,000 now in New York to buy pound?

H Company
	
	2000
	2001
	2002

	Inventory turnover
	5
	6
	7

	Total Asset turnover
	5
	4
	3

	A/P turnover
	10
	9
	8

	A/R turnover
	12
	14
	15


Based by the table above, what is the most likely to increase

A. Cash conversion cycle

B. Fixed asset turnover

C. Investment in working capital

D. Likely loss on sale which caused by strict credit politics

· A venture has already begun its own commercial manufacturing and sales. What is the stage the venture may stay in

A seed stage

B. Early stage

C. Later stage

D.Second stage

A technical analyst who has alternative specification of advance-decline series will include which one as indicator

A support level 

B. Diffusion Index

C. Resistant level 

D.Confidence Index

· In plain vanilla interest swap and plain- vanilla currency swap which one need to determine payment on settlement date in advance and pay in arrears?

	
	Maturity
	Years of deferred call

	Ginnie Mae pass through
	18
	-

	Ginnie Mae pass through
	20
	-

	A-rated corporate bond
	18
	5

	A- rated corporate bond
	20
	10


Compared with the interest rate of US T-bill, which bond’s OAS and nominal spread is the closet?

GIPS 

· What is the accounting method must be used for fixed income securities, and what is the methodology to calculate rates of return?

· A corporate bond has 10% probability to default. The bondholders will receive nothing if the bond defaults in the future. The risk-free rate is 5.3%. What is the minimum default risk premium the investor need to required?

· Given a shift of macroeconomic policy, what is the view to adaptive expectations and rational expectations about the short-term and long- term out put level?

Short-term       Long-term
A.  Alike           Alike

B.  Different        Different

C.  Alike           Different

D.  Different        Alike

· Beta= 1.1, risk-free rate= 5%, growth rate = 6%, rate of return of market= 12%

Do = 1.2, Po= 2 use discounted cash flow method to calculate the required rate of return

· Someone is a director who manages several analysts in the research department. He suspects one analyst in his department violates the personal trading policy in his firm. What is the initial action he should take

A. Initiate investigation

B. Cease employment of that analyst

C. Required the analyst to liquidate and close all person account

D. Investigate the company’s personal trading policy to determine whether the analyst violate the policy.

· Based on the AIMR standard of practice, members need to disclose the referral fee under which kind of situation?

A. When the referral fee will pay to the third party. However, if the referral fees are paid from one department of the firm to the members, we don’t need to disclose it.

B. We need to disclose the referral fees no matter the fee is pay to the third party outside the firm or we receive the referral fees from one department of the firm.

	EBIT of 2002
	22M

	EBIT/I
	5

	Old bond interest rate
	12%

	Bond matured in 2002
	20M

	New issue bond interest rate
	11%


2003 sales = 2002, all the bonds were issued at par. What is the maximum debt the company is able to issue if the firm want to maintain its EBIT/I =4?

· The inventory day is 19 days in 2002. The company wants to reduce the inventory days to 15 days in 2003. The sales in 2002 are about 300M and the sales in 2003 are about 400 M. What is the change of average inventory between 2002-2003?

